
IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770/AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

Parts List

P/N AIP11771P/N AIP11770QTYITEM NO.

03-0102-0111

03-0202-0212

03-0302-0313

03-0402-0414

03-0502-0515

03-0602-0616

03-07N/A1*7

03-08N/A1*8

03-0902-0719

03-1002-08110

03-1102-09111

03-1202-10112

03-1302-11113

03-1402-12114

HX85093X 

HEX SPACER

HX77740X 

HEX SPACER

30/3615

8-32 NUTS8-32 NUTS316

PL75628YPL75628Y117

01-151-ST01-151-ST318

AC43117XAC43117X319

THUMB NUTSTHUMB NUTS320

2F21 T5LAMP 

ENGINE

2F14 T5 LAMP 

ENGINE

121

21

1
2

3

4

5

6

8*

9

10

12

13

14

ASSEMBLED FIXTURE 
(AIP11771 PICTURED)

7*

11

PAGE ONE

20

15

19

**NOTES**
AIP11770 ASSEMBLED FIXTURE HAS (12) 
LEAF SECTIONS AND (30) HEX SPACERS.  
(SEE CHART ABOVE)



DETAIL  A
SCALE 1 / 2

DETAIL VIEW 
.INDICATOR MARKS

SCALE 1 / 4

IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770/AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

A

E

PAGE TWO

03-14

03-13

PLYWOOD BASE

FIXTURE SUPPORT STAND

 
1.  PLACE PLYWOOD BASE ON FLAT LEVEL SURFACE WITH FIXTURE STAND FACING UP.
 
2.  ATTACH (3) SPACERS INTO FIXTURE SUPPORT STAND WITH THE THREADDED SHAFT
     DOWN AND SECURE WITH 8-32 NUTS ON BOTTOM.
 
3. PLACE ACRYLIC LEAF (03-13) OVER THE SPACERS AND THREAD IN (3) SPACERS TO SECURE.
           (***    DO NOT OVER TIGHTEN AS THAT WILL CAUSE THE LEAF TO BREAK   ***)
 
4.  PLACE ACRYLIC LEAF (03-12) OVER THE SPACERS AND THREAD IN (3) MORE SPACERS TO SECURE.
 

SPACER

8-32 NUTS

03-12

LEAF (03-14) WILL BE INSTALLED
 AFTER FIXTURE IS HUNG UP

ASSEMBLY INSTRUCTIONS
QTY OF INDICATOR 
MARKS CORRESPONDS 
TO PART NUMBER ON 
PARTS LIST, SEE PAGE 1



IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770/AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

03-13

03-12

03-11

03-10

03-09

03-02

03-03

03-04

03-05

03-06

03-07

03-08

8-32 X 1.50" THREADED ROD

4.      CONTINUE PLACING ACRYLIC LEAVES 03-12 THRU 03-03 ON THE FIXTURE IN
    THE ORDER SHOWN ON DRAWING AND SECURE IN PLACE WITH THREADED SPACERS.
        ***  DO NOT OVERTIGHTEN SPACERS IT WILL CAUSE THE LEAVES TO BREAK ***
 
5.  PLACE ACRYLIC LEAF 03-02 IN PLACE AND INSTALL 8-32 X 1.50" THREADED ROD IN SPACERS.

PAGE THREE



IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

03-01

LAMP ENGINE MOUNT PLATE
(ITEM 17)

CABLE GRIPPER
8-32 NUTS

6.  PLACE ACRYLIC LEAF 03-01 INVERTED (AS SHOWN)
     OVER THE 8-32 THREADED RODS.
 
7.  PLACE LAMP ENGINE MOUNT PLATE OVER THE 8-32
    THREADED RODS. AND SECURE WITH 8-32 NUTS
               *** DO NOT OVER TIGHTEN ***
             * ACRYLIC LEAVES WILL BREAK *

8. THREAD CABLE GRIPPER ON 8-32
    THREADED ROD AND SECURE
    AGAINST 8-32 NUTS.
 
9. FIXTURE SHADE IS READY
    FOR INSTALLATION.

PAGE FOUR



IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770/AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

INSTALLATION INSTRUCTIONS

10. INSTALL CROSS BAR TO J BOX
     (HARDWARE BY OTHERS)
 
11.  ATTACH (3) AIRCRAFT CABLES TO CROSSBAR
 
12.  PASS CABLES THROUGH HOLES IN CANOPY COVER 
 
 13.  PLACE FIXTURE SHADE DIRECTLY BENEATH
       CEILING MOUNTED CANOPY WITH CABLES.
 
14.  CONNECT CABLES TO THE CABLE GRIPPERS
       ON TOP OF FIXTURE.
 
15.  REMOVE THREE THUMB NUTS FROM PLYWOOD
       BASE AND RAISE FIXTURE AWAY FROM BASE.
 
16.  REMOVE THREE 8-32 NUTS AND REMOVE
      FIXTURE SUPPORT STAND FROM BOTTOM
      OF FIXTURE SHADE.

8-32 NUTS

PLYWOOD BASE

FIXTURE SUPPORT STAND

PAGE FIVE



DETAIL  B
SCALE 1 / 4

IMPORTANT SAFETY AND INSTALLATION INSTRUCTIONS
WARNING: Risk of fire and electrical 
shock. This product is to be installed by 
a qualified electrician only.
 
CAUTION: When using electrical 
equipment, basic safety precautions 
should always be followed including the 
following: Read all instructions carefully 
before installation and save 

for future use. Make sure installation and 
all connections are in accordance with 
National Electrical Code and any local 
regulations. To avoid possible electrical 
shock, be sure that power supply is turned 
off before installing or servicing this fixture.
Servicing should be performed by qualified
service personnel.

These instructions do not claim to cover 
all details or variations. When additional 
information is desired, please contact 
your SPI representative.

ADVENT A BRAND OF SPILIGHTING Tel ( 262)-242-1420   FAX:  (262)-242- 6414 

AIP11770/AIP11771

IS93894Y

3/22/17

contact@specadvent.com
TM

B

03-14

.375" BRASS FINIAL BALL

LAMP ENGINE

14.  PLACE ACRYLIC LEAF 01-014 ON
      THREADED SPACER AT BOTTOM
      OF FIXTURE AND SECURE WITH
      FINIAL BALLS.
 
15.  REMOVE THREE THUMB NUTS
       FROM LAMP ENGINE MOUNTING
       PLATE AT TOP OF FIXTURE.
 
16.  INSTALL LAMP ENGINE IN CENTER
      OF SHADE. LAMP ENGINE MOUNT
      BRACKET WILL REST ON LAMP ENGINE
      MOUNT PLATE STUDS AT TOP OF FIXTURE
      AND BE SECURED WITH 8-32 THUMB NUTS.
 
17. MAKE ELECTRICAL CONNECTIONS IN
     ACCORDANCE WITH NATIONAL ELECTRIC
     CODE AND ALL LOCAL REGULATIONS.
 
18.  ATTAH CNOPY COVER 
      TO CROSS BAR

LAMP ENGINE
MOUNT BRACKET

PAGE SIX

MOUNT
PLATE


